Name 
Class 
Date 


Chapter 7 Test Review
Advanced Algebra
For Questions 1 – 8, solve each equation. Check for extraneous solutions.

SHOW WORK FOR CREDIT
1.  
[image: image1.emf]


x + 53 = 6










x

+

5

3

=

6










1.  _____________________
2.  
[image: image2.emf]


x + 5 −1= 2










x

+

5

-

1

=

2









2.  _____________________
3.  
[image: image3.emf]


(2x − 4)
1
3 = 4










(2

x

-

4)

1

3

=

4









3.  _____________________
4.  
[image: image4.emf]


x2 + 4 = 7










x

2

+

4

=

7









4.  _____________________
5.  
[image: image5.emf]


x + 7 = x +1










x

+

7

=

x

+

1









5.  _____________________                   
6.  
[image: image6.emf]


3x −8 = 2










3

x

-

8

=

2









6.  _____________________
7.  
[image: image7.emf]


(2x +1)
1
3 = 3










(2

x

+

1)

1

3

=

3









7.  _____________________           
8.  
[image: image8.emf]


3(x +1)
4
3 = 48










3(

x

+

1)

4

3

=

48









8.  _____________________
For Questions 9 – 12, let 
[image: image9.emf]


f (x) = 4x










f(x)

=

4x

and 
[image: image10.emf]


g(x) = x2 + 5x










g

(

x

)

=

x2

+

5

x

. Perform each function operation.                                                                 Then find the domain of each.

9.  
[image: image11.emf]


f (x) ⋅ g(x)










f(x)

×

g(x)










9.  _____________________










DOMAIN:  ______________
10.  
[image: image12.emf]


g(x)
f (x)










g

(

x

)

f

(

x

)










10.  ____________________










DOMAIN:  ______________
11.  
[image: image13.emf]


f (x)
g(x)










f

(

x

)

g

(

x

)



            





11.  ____________________










DOMAIN:  ______________
12.  
[image: image14.emf]


f (x)− 2g(x)










f(x)

-

2g(x)

 







12.  ____________________










DOMAIN:  ______________
13.  Find 
[image: image15.emf]


f (g(4))










f(g(4))

for 
[image: image16.emf]


f (x) = x2 − 2x










f

(

x

)

=

x2

-

2

x

and 
[image: image17.emf]


g(x) = 5x










g(x)

=

5x

.



13.  ____________________
14.  Find 
[image: image18.emf]


g( f (4))










g(f(4))

for 
[image: image19.emf]


f (x) = 2x −1










f(x)

=

2x

-

1

and 
[image: image20.emf]


g(x) = x2 +3










g

(

x

)

=

x2

+

3

.


14.  ____________________
For Questions 15 – 24, find the inverse of each function. Is the inverse a function?

15.  
[image: image21.emf]


f (x) = (x −1)2 +3










f

(

x

)

=

(

x

-

1)

2

+

3









15.  ____________________










FUNCTION?  YES or NO

16.  
[image: image22.emf]


f (x) = x − 53










f

(

x

)

=

x

-

5 3









16.  ____________________










FUNCTION?  YES or NO
17.  
[image: image23.emf]


f (x) = 4x − 5










f(x)

=

4x

-

5









17.  ____________________










FUNCTION?  YES or NO

18.  
[image: image24.emf]


f (x) = x2 + 7










f

(

x

)

=

x2

+

7









18.  ____________________










FUNCTION?  YES or NO

19.  
[image: image25.emf]


f (x) = (x + 2)2 − 4










f

(

x

)

=

(

x

+

2)

2

-

4








19.  ____________________  










FUNCTION?  YES or NO          
20.  
[image: image26.emf]


f (x) = 4x3 −1










f

(

x

)

=

4

x3

-

1









20.  ____________________










FUNCTION?  YES or NO

21.  
[image: image27.emf]


f (x) = x + 4










f

(

x

)

=

x

+

4









21.  ____________________










FUNCTION?  YES or NO

22.  
[image: image28.emf]


f (x) = 3x + 2










f(x)

=

3x

+

2









22.  ____________________










FUNCTION?  YES or NO

23.  
[image: image29.emf]


f (x) = x2 − 5










f

(

x

)

=

x2

-

5









23.  ____________________










FUNCTION?  YES or NO

24.  
[image: image30.emf]


f (x) = x + 23










f

(

x

)

=

x

+

2 3









24.  ____________________










FUNCTION?  YES or NO

25.
Given 
[image: image31.emf]


y = − x − 53 + 2










y

=-

x

-

5 3

+

2

,

        a. state the parent function.





25a.  ___________________




        b. describe the transformation.





25b.  ___________________

26.  The velocity of a falling object can be found using the formula 
       
[image: image32.emf]


v2 = 64h










v

2

=

64

h

, where v is the velocity (in feet per second) and h is the 
       distance the object has already fallen.

       a.  What is the velocity of the object after a 12-foot fall?

26a.  ___________________
       b.
 How much does the velocity increase if the object falls 

26b.  ___________________
             25 feet rather than 12 feet?

For Questions 27 – 30, match each function with its graph.
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